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Thin .
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what if g :D
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what is the pdf of Y ?
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Pareto'sLa/" 80-20 rule "
-

:

• 804 of the outcomes are caused by 20% of the actions

• 804. of the profits go
to only 201, of the people
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Mathematically , this is only true if

a- log
,
5=1.161 .

9
Sharpe ratio

However
,

the following is a mathematically rigorous

version of this principle :@

Profits are distributed Z pelo.dk) s- t .

according to a ⇐ Loop Y. of people receive

Pareto distribution fools .p)y. of all profits
( a>a)

"

80 - wrote
"

← togasp =
0.2 ⇐

bk

feng = dogcart
by p


